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Vertex Form Worksheet B Name: K\ Hir—-
Axis of symmetry: f&:—::%c = ;—2—, k=fh) Vertex: (h, k) Vertex form: y = q(x — h)* + k

Use the formula [—5—,_} to find the vertex and then write the equation in vertex form.
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Find the following given the {>( ﬁ‘tg"*r 'eé[_ua%mt?ﬁwéazfa%ﬁﬂm—élentify the vertex, (c)
identify the axis of symmetry, {d) state if the vertex Is a max or a min, and (e} sketch a graph.
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State if the equation is in vertex form or standard form or both. Then find the vertex for the
equatlons helow.
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